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In the following passages some words (26-30) have been left out. First read the

passage over and try to understand what it is about. Then fill in the blanks with
the help of the alternatives given. Mark your answer in the answer-sheet.

(26)...... accordance with the banks tradition, the management has continued
" to encourage the extra-curricular activities (27) ...... emplyees. You will be

(28 to know that our bank won the first prize (29)-...... the one-act play
. competition. Sri Prassanna Rao won the prize (30)...... the best actor.

(%) for -~ (R) with_ (3) in (¥) to

(2) with () about (3) to () for

(%) with ~ (R) about - (3) entitled | (¥) pleased

(2) for (?)in CETE (¥) with

(2) for () with (3) of (%) in

In the following questions (31-35) find cut which part of sentences has an error.

The government propose / to build a dam / for _electricity generation and /
irrigation purposes. _
(2) A () B (3) C (¥) D

Have you been less tasll / the party would / not have ended / ina fiasco.
() A . (R) B (&) € (¥) D
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No man can become / a great artist / unless he applies /
himself contionuously to his art.

(A . () B (3) C (¥) D

It is the mad / craze for speed / that is responsible / for much motor accideﬂ:
() A () B (3) C (¥) D

It useless / to offer bread / to a man who / is dving to thirst.

(2) A (R) B (3) C % -G8 D

In the following question (36-40) choose the word which is the exact opposite of
the given word. . ; ;

- Malignant:
(%) Virulent - (R) Prime . (3)Benign - (¥) Swallow
Insipid: - :
(%) Tasty (?) stupid (3) Discreet (¥) Feast
Deficit: : |
(%) Explicit (R) Implicit (3) Surplus e (¥) Superfluous
Pacify: Eeen

- () Injure (R) Offend (3) Aggravate  (¥) Insult
Absolve: : - :
(%) Bless - () Blame (3) Melt (¥) Repent

In the following question (41-45) choose the word which best expresses the
meaning of the given word. -

Fiction: :
(%) Imaginary () Tamed (3) Novel (¥) Wilderness
Eventually: ‘ '

- (2) Suddenly (R) Ultimately (3) Quickly (¥) Abruptly

Congregation: - :
(%) Succession  (?) Progression’  (3) Assemblage (¥) Patronage

Precinct: . _
(2) Religion (R) Priest (3) Vicinity | (¥) Preceding

Impostor:
(2) Inventor = (R) Pretender (3) Foreigner (¥) Specialist
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In the following questmn (46-50) choose correct word, wluch subsitutes the
sentence or the phrase:

A remedy for all diseases ......

(2) Narcotics (?) Antiseptic (3) Panacea (¥) Tonic

One who talks continuously ...... .

(%) Avaricious . (R) Voracious (3) Loquacious (¥) Impecunious
A person who hates the institution of marriage ...... '

(2) Misologist () Misogamist (3) Misogynist (¥) Philogynist

That which cannot be seen through ...... ; :
(%) Transparent  (R) Translucent (3) Pedantic (¥) Opaque

Not suitable to be eaten ......

(1) Inexorable  (R) Inept (3) Infernal ~ (¥) Inedible
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